
N
am

e: ______________                                    5-a-day                                         H
igher Plus

7th A
pril                                                     

W
rite x² − 6x + 17 in the form

 
(x − a)² + b

Express r in term
s of y

Solve 

x² + y² = 36
½

x = y + 3

Tw
o clay m

odels of the Statue of Liberty 
are m

athem
atically sim

ilar.

�
The sm

aller m
odel has a height of 

15cm
.

The larger m
odel has a height of 20cm

.
The sm

aller m
odel w

eighs 108g.

W
ork out the w

eight of the larger m
odel.

�The cylinder and sphere have the sam
e 

volum
e
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